PNS School of Engineering & Technology

Nishamani Vihar, Marshaghai, Kendrapara
Internal Assessment Examination-2022(3rd Semester)
Subject : Th-1 -Engineering Math-lil
Branch : Electrical & ETC Engineering

Time: 115 Hours F.M. : 20
L. Answer the following questions (any FIVE). [2 x 5]

(@ Solve : (x+y) +i (x-p) = 12+6i
W ind reciprocal of 1+i

1 0 0
(c¢)Find rank of the matrix \:0 1 0]

0 0 1
@/éompute l")_'}+_¢i (sin 3x)

d’y dy _
ve &Y -55 + 6y =0
{ Ovedxz dx Y

\@iud I (%)

\/@\}F orm a partial differential equation corresponding to

Z= ()
-«\@Find L {¢’ sin 5t}
2. Answer any TWO questions - [3 x2]

~ (a) Show that (““"9'““39 )"=*eas‘(‘%1<é;{e‘)‘ﬁs’iﬁ A5n6)

1+sin® - i cosO

(b) Test consistency of following system and if possible solve it.
2x-3y+77=5, 3x+y-37=13, 2x+19y-477=32.

' 2
(c) Find PI for {.‘[_’x_{ +3ng_’ + 2y = 4cos?x
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